17173004.istQa

Tue Jun 21 04:32:53 2016



Number of Raw Hits

ADC of Raw Hits

3.5

wW

Entries 256320

I The number of RawHits vs. sensor ID I

20 40 60 80 100 120 140
Sensor ID

Entries 1327043

1 4102
7 10
_ |

3 ADC of raw hits at time bin 0 vs. channel geometry ID
x10 I—I

20 40 60 80 100
Channel ID

Number of Hits
= =
o N
o o

[0)
(=)

o2}
o

4

w
&)

ADC of Raw Hits
w

2.5§

IEntries 256320 l

I The number of hits vs. sensor ID l

10?

10

AR

100 120 140
Sensor ID

I Entries 1327043 |

20 40 60 80

3 ADC of raw hits at time bin 1 vs. channel geometry ID
x10 I—I

10

20 40 60 80 100
Channel ID



ADC of Raw Hits

ADC of Raw Hits

I Entries 1327043 l

ADC of raw hits at time bin 2 vs. channel geometry ID ADC of raw hits at time bin 3 vs. channel geometry ID

><1O3

><103
4

ADC of Raw Hits

Channel ID

3 I ADC of raw hits at time bin 4 vs. channel geometry ID I 3 I ADC of raw hits at time bin 5 vs. channel geometry ID I

X
[N
o

X
=
o

M
80 100

Channel ID

Page 3

M
80 100

C 1 T r 1
35F - % 3.5F 3
L . [n'd L .
o . s F :
3F r o 3SF r
o ] o k :
25F = < osf =
2F - 2F 3
1.5F = 1.5F =
' . iE .
0.5F - 0.5F -
E » 1«10 o: » 1103

Channel ID



ADC of Raw Hits

ADC of Raw Hits

3.5

2.5

15

0.5

3 ADC of raw hits at time bin 6 vs. channel geometry ID

11X
[N
1.

3.5

2.5

15

0.5

20 40 60 80 100
Channel ID

3 ADC of raw hits at time bin 8 vs. channel geometry ID
x10 I—I

1

20 40 60 80 100

Channel ID

Entries 1327043

x10

Entries 1327043

x10

ADC of Raw Hits

RMS noise of Raw Hits

3.5

2.5

15

0.5

60

50

40

30

20

10

IEntries 1327043 l

3 ADC of raw hits at time bin 7 vs. channel geometry ID

Ll R
[N
j.

20 40 60 80 100
Channel ID

x10

IEmries 1327043 |

I RMS noise of raw hits vs. channel geometry ID I

80 100
Channel ID

20 40 60

Page 4

10

10

= w



ADC of Hits

Max Time Bin Index

x10° ADC of hlts VS. sensor !D

102
10
= 1
60 80 100 120 140
Sensor ID
I Max time bin of raw hits vs group ID I
10*
10°

10 20 30 40 50 60 70
Group ID [12*(RDO-1)+2*ARM+GROUP]

Entries 1161566

10?

10

RMS noise of Hits

Max Time Bin Index

60

50

40

30

20

10

IEntries 1161566 |

I RMS noise of hits vs. sensor ID l

3 10°
3 102
10
0:...|...|...|...|...|...|...| 1
20 40 60 80 100 120 140
Sensor ID
IEntries 1327043|
I Max time bin of raw hits vs APV ID I
9

IR |
| B0 T

AT AAL | \IIII\I/

0 100 200 300 400 500 600 700 800
APV ID [144*(RDO-1)+24*ARM+APV]

Page 5



Max Time Bin Index

Cluster Size in Z of Hits

IEntries 1161566 l

IMax time bin of hits vs. sensor ID|

9
0 1
20 40 60 80 100 120 140
Sensor ID
IEntries 1161566|
Cluster size in Z of hits vs. sensor ID
20
18
16
10°
14
12
10 102
8
6
10
4
2
0 1
20 40 60 80 100 120 140
Sensor ID

Cluster Size of Hits

Cluster Size in r-@of hits

IEntries 1161566 l

I Cluster size of hits vs. sensor ID l

20 40 60 80 100 120 140

Sensor ID

IEntries 1161566 |

I Cluster size in r-@of hits vs. sensor ID I

102

10

20 40 60 80 100 120 140

Sensor ID



Column inZ

Global Y [cm]

Entries 1161566

IST hit map inr- ph| vVs. Z

02 04 06 08 1 12 14
Row in r-¢@

IEntries 1161566 |

| Global X vs. Global Y |

15
[ —
C R
10~ ™~ \ 10°
5 ,-"f \
5 -
102
0 =
-5 J'\
[ 10
-10F \ A~
: \ -
L | —
T L T 1
Global X [cm]

Ladder ID

Global Z [cm]

AL AR AR MR R

IEntries 1161566 |

IST hit map in APV geometry Id vs. ladder

10 15 20 25 30 35
APV geometry ID

IEntries 1161566 |

| Global @vs. Global Z |

10°

Global ¢[rad.]



Row

<rawhits>

IEntries 7373 | IEntries 6268 |

Raw Hit column vs. row: Ladder 1 Sensor 1 Hit mean column vs. mean row: Ladder 1 Sensor 1

60 60

Mean Row

50 50

40 40
30 30
20 20

10 10

Column Mean Column

IEntries 1780 | IEntries 9893 |
INumber of raw hits vs. EventID: Ladder 1 Sensor 1I I Raw Hit column vs. row: Ladder 1 Sensor 2 I

. >
o —
7 0: — I |
' =l =
] TEm e am
] 30 —— -
i IS —
E -__ —_—
. -
'><103 _-_
4 5 6 7 8 9 10
EventID (Time) Column

Page 8



1780

Entries

8652

Entries

Number of raw hits vs. EventID: Ladder 1 Sensor 2

Hit mean column vs. mean row: Ladder 1 Sensor 2

.x103

;_j

o
©

MOY UeaN

_;_:

o
<

,__ i

J_ _r___7 ﬁ___ __

_,___

10

<

EventID (Time)

Mean Column

4341

Entries

4604

Entries

Hit mean column vs. mean row: Ladder 1 Sensor 3

Raw Hit column vs. row: Ladder 1 Sensor 3

|
____ ____

MOy ueap

:

moy

) ____,__,_ |

i__

__”___*

_._._.__._2

Mo,

Mean Column

Column

Page 9



<rawhits>

Mean Row

60

50

40

30

20

10

INumber of raw hits vs. EventID: Ladder 1 Sensor 3I

Entries 1780

IEntries 2988 l

I Raw Hit column vs. row: Ladder 1 Sensor 4 I

107t

- % :
i x 60
E 50
- 40
! 30
] 20F
Z 10
Ix10° [

0 1 2 4 5 6 7 8 9 10

EventID (Time)
[Entries 2832 |
IHit mean column vs. mean row: Ladder 1 Sensor 4I

- N

. 10 2

' E

[ N © 10

[ i v

} o1

- - i

E — — i 1

3 = =107

: ey T—

o —_—

[ —

S E BRI B i I

2 4 6 8 10 12 0

Mean Column

12
Column

IEntries 1780 |

INumber of raw hits vs. EventID: Ladder 1 Sensor 4I

3 4 5

6

x10°
7 8 9 10

EventID (Time)



Row

<rawhits>

10 !

IEntries 6227 |

I Raw Hit column vs. row: Ladder 1 Sensor 5 I

10

10 12
Column

IEntries 1780 |

107t

INumher of raw hits vs. EventID: Ladder 1 Sensor 5I

4

5

6

1x10°
7 8 9 10

EventID (Time)

IEntries 5504 |

Hit mean column vs. mean row: Ladder 1 Sensor 5

Mean Row

I )

IEntries 8965 |

2 4 6 8 10 12
Mean Column

I Raw Hit column vs. row: Ladder 1 Sensor 6 I

g 3
x 60 10
50
40 102
30
20 10
10
== J

2 4 6 8 10 12
Column



Mean Row

Row

IEntries 801l| IEntries 1780 l
IHlt mean column vs. mean row: Ladder 1 Sensor SI INumber of raw hits vs. EventID: Ladder 1 Sensor 6I

Y i
10° = -
% -
V -
102 10 ;H -:
10 ]
1 -
1 Ix10°
0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

IEntries 8788 | IEntries 7520 |
I Raw Hit column vs. row: Ladder 2 Sensor 1 I IHil mean column vs. mean row: Ladder 2 Sensor 1I

2
hd 60 — —
[y : —
© B —
N p—
= 50f -
: ]
40
30F
K ——] |
: —
20_—
: — f—, —
10 o
K I |
2 4 6 8 10 12 2 4 6 8 10 12
Column Mean Column



<rawhits>

Mean Row

IEntries 1780 I

INumber of raw hits vs. EventID: Ladder 2 Sensor 1I

4103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8529 |

Hit mean column vs. mean row: Ladder 2 Sensor 2

Mean Column

II:I1I III'I

<rawhits>

10}

IEntries 9551|

Raw Hit column vs. row: Ladder 2 Sensor 2

|
e e
—
I
—
—
—
__
I
—
—
e
—

|
1'
Y

I _-
S — _—
|
|
|
— 1
—
—
I
_—_—
= — 1071
__
—
r— |
10 12
Column

IEntries 1780 |

5

6

INumber of raw hits vs. EventID: Ladder 2 Sensor 2I

'><103
7 8 9 10

EventID (Time)



IEntries 10884 | IEntries 9673 |

Raw Hit column vs. row: Ladder 2 Sensor 3

Column

Hit mean column vs. mean row: Ladder 2 Sensor 3

Mean Row

Mean Column

IEntries 1780 | IEntries 10653 |

INumber of raw hits vs. EventID: Ladder 2 Sensor 3I

<rawhits>

10

Raw Hit column vs. row: Ladder 2 Sensor 4

Row

4 5 6 7 8 9 10

EventID (Time)

><103

Column



Mean Row

Row

IEntries 9745 | IEntries 1780 |
INumber of raw hits vs. EventID: Ladder 2 Sensor 4I

Hit mean column vs. mean row: Ladder 2 Sensor 4

______ -_-___ /\ -
o — — — — \7 b
50 o — |
e S 10§ -
— — =
— — -
—— — : 1 b
| — _ — h
—— —
30 e — T ]
— e el ]
e s S, e — — 10‘1 -
10 —_ — — — - <
——_—_ _ﬂ —
gy T " 4x10°
4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 9365 | IEntries 8421|
Raw Hit column vs. row: Ladder 2 Sensor 5 Hit mean column vs. mean row: Ladder 2 Sensor 5

Mean Row

107t

10 12
Column Mean Column



<rawhits>

Mean Row

IEntries 1780 I

6

INumber of raw hits vs. EventID: Ladder 2 Sensor 5I

4103
7 8 9 10

EventID (Time)

IEntries 7111|

Hit mean column vs. mean row: Ladder 2 Sensor 6

Mean Column

Row

<rawhits>

10

IEntries 8237 I

Raw Hit column vs. row: Ladder 2 Sensor 6

Column

IEntries 1780 |

INumber of raw hits vs. EventID: Ladder 2 Sensor 6I

5

6

'><103
7 8 9 10

EventID (Time)



IEntries 8423 | IEntries 7198 |

Raw Hit column vs. row: Ladder 3 Sensor 1 Hit mean column vs. mean row: Ladder 3 Sensor 1

Mean Row

Column Mean Column

IEntries 1780 | IEntries 9626 |
INumber of raw hits vs. EventID: Ladder 3 Sensor 1I I Raw Hit column vs. row: Ladder 3 Sensor 2 I

Row

<rawhits>

10

1 E
] 107t
'><103
0 3 4 5 6 7 8 9 10
EventID (Time) Column



Mean Row

Row

IEntries 8420 |

Hit mean column vs. mean row: Ladder 3 Sensor 2

60F —-____—=

FI'.

T

] ' |
‘riit'i !

|

107t

|

| PP W | |
4 6 8 10 12

Mean Column

IEntries 9129 |

!

I Raw Hit column vs. row: Ladder 3 Sensor 3 I

10

Column

IEntries 1780 |

INumber of raw hits vs. EventID: Ladder 3 Sensor 2I

<rawhits>

10§

4102
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8137 |

Hit mean column vs. mean row: Ladder 3 Sensor 3

Mean Row

Mean Column



<rawhits>

Mean Row

IEntries 1780 | IEntries 10723 |
INumber of raw hits vs. EventID: Ladder 3 Sensor 3I I Raw Hit column vs. row: Ladder 3 Sensor 4 I

Row

10

.x103
4 5 6 7 8 9 10

EventID (Time) Column

IEntries 9548 | IEntries 1780 |
INumber of raw hits vs. EventID: Ladder 3 Sensor 4I

Hit mean column vs. mean row: Ladder 3 Sensor 4

—"__“-_-- — é "1

— — € )

- | ] | — _— \7 i
M e

— == 10 E

- | — - 1 72 ]

— oy ™ o ]
—— -

— o 1 -

e — — { 4 ]

e T eIl 10 ]

- T e ]

e b0’
8 10 2 0 5 6 7 8 9 10
Mean Column EventID (Time)



8576

Entries

9821

Entries

Hit mean column vs. mean row: Ladder 3 Sensor 5

Raw Hit column vs. row: Ladder 3 Sensor 5

__ ____ T__ _

0
©

MOY UeaN

107t

,_____)_________

______ ,

moy

__*____

o o
o <

_H____ _

o o
N —

__4

Mean Column

Column

8114

Entries

1780

Entries

___
_ _,,

Raw Hit column vs. row: Ladder 3 Sensor 6

A
L -____z
o o o
o™ N —

moy

4102
9 10

EventID (Time)

[ce]

Number of raw hits vs. EventID: Ladder 3 Sensor 5

<slymes>

Column

Page 20



Mean Row

Row

IEntries 7001|

Hit mean column vs. mean row: Ladder 3 Sensor 6

Mean Column

IEntries 8653 |

Raw Hit column vs. row: Ladder 4 Sensor 1

Column

<rawhits>

Mean Row

IEntries 1780 |

INumber of raw hits vs. EventID: Ladder 3 Sensor GI

4102
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 7368 |

Hit mean column vs. mean row: Ladder 4 Sensor 1

Mean Column



<rawhits>

Mean Row

IEntries 1780 I IEntries 9674 I
INumber of raw hits vs. EventID: Ladder 4 Sensor 1I I Raw Hit column vs. row: Ladder 4 Sensor 2 I

'><103
6 7 8 9 10
EventID (Time) Column

IEntries 8498 | IEntries 1780 |
INumber of raw hits vs. EventID: Ladder 4 Sensor 2I

Hit mean column vs. mean row: Ladder 4 Sensor 2

[N
o
<rawhits>

IIIII.
=

1 E
107 ]
'X103
0 5 6 7 8 9 10
Mean Column EventID (Time)



Row

<rawhits>

60

50

40

30

20

10

IEntries 10753 |

Raw Hit column vs. row: Ladder 4 Sensor 3

107t

10 12

Column

IEntries 1780 |

INumber of raw hits vs. EventID: Ladder 4 Sensor 3I

3 4

5

6

'><103
7 8 9 10

EventID (Time)

IEntries 9579 |

Hit mean column vs. mean row: Ladder 4 Sensor 3

60

Mean Row

50

40

30

20

107t
10

2 4 6 8 10 12
Mean Column

IEntries 10854 |

Raw Hit column vs. row: Ladder 4 Sensor 4

Row

40

107t

6 8 10 12

Column
Page 23



Mean Row

Row

IEntries 9698 l IEntries 1780 l
INumber of raw hits vs. EventID: Ladder 4 Sensor 4I

IHit mean column vs. mean row: Ladder 4 Sensor 4I

|_\
o
<rawhits>

10

1 E
107 )
4x10°
0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

IEmries 9659 | IEntries 8459 |
I Raw Hit column vs. row: Ladder 4 Sensor 5 I IHit mean column vs. mean row: Ladder 4 Sensor 5I

Mean Row

2 4 6 8 10 12

Column Mean Column
Page 24



<rawhits>

Mean Row

IEntries 1780 I IEntries 8277 I
INumber of raw hits vs. EventID: Ladder 4 Sensor 5I I Raw Hit column vs. row: Ladder 4 Sensor 6 I

i 2
b o
- @
'><103
6 7 8 9 10
EventID (Time) Column

IEntries 7076 | IEntries 1780 |
INumber of raw hits vs. EventID: Ladder 4 Sensor 6I

Hit mean column vs. mean row: Ladder 4 Sensor 6

N
2 .
60 I 10 = ]
: g .

50 ] v
10 E
40 ]
1 -
30 ]
20 1 r
1071 1
10

- x103
6 8 10 12 0 5 6 7 8 9 10

Mean Column EventID (Time)



Row

<rawhits>

60

50

40

30

20

10

IEntries 8696 |

I Raw Hit column vs. row: Ladder 5 Sensor 1 I

10

107t

10 12

Column

IEntries 1780 |

INumber of raw hits vs. EventID: Ladder 5 Sensor 1I

6

'><103
7 8 9 10

EventID (Time)

IEntries 7389 |

IHit mean column vs. mean row: Ladder 5 Sensor 1I

10

Mean Row

107t

Mean Column

IEntries 9578 |

Raw Hit column vs. row: Ladder 5 Sensor 2

Row

40

107t

6 8 10 12

Column
Page 26



Mean Row

Row

IEntries 8393 l

Hit mean column vs. mean row: Ladder 5 Sensor 2

i

ﬁ_s-—___

)

2 4 6 8 10 12
Mean Column

IEntries 10637 |

I Raw Hit column vs. row: Ladder 5 Sensor 3 I

Column

IEntries 1780 l

INumber of raw hits vs. EventID: Ladder 5 Sensor 2I

<rawhits>

10

4103
O 1.2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 9460 |
IHit mean column vs. mean row: Ladder 5 Sensor 3I

0 9

50

Mean Row

40 710

30

20

10

2 4 6 8 10 12

Mean Column
Page 27



<rawhits>

Mean Row

IEntries 1780 | IEntries 10744 |
INumber of raw hits vs. EventID: Ladder 5 Sensor 3I I Raw Hit column vs. row: Ladder 5 Sensor 4 I

Row

><1O3
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time) Column

IEntries 9542 | IEntries 1780 |
INumber of raw hits vs. EventID: Ladder 5 Sensor 4I

Hit mean column vs. mean row: Ladder 5 Sensor 4

/\ -
b .
= .
v }I
10 E
1 -
1 E
107 ]
.x103
0 5 6 7 8 9 10
Mean Column EventID (Time)



Row

<rawhits>

10§

IEntries 9645 | IEntries 8452 |

Raw Hit column vs. row: Ladder 5 Sensor 5

Column

Hit mean column vs. mean row: Ladder 5 Sensor 5

HEI

Mean Row

|

||l EI‘

Mean Column

IEntries 1780 | IEntries 8248 |

INumber of raw hits vs. EventID: Ladder 5 Sensor 5I

4

5

6

Raw Hit column vs. row: Ladder 5 Sensor 6

g 2
- [e]
- [ad ——
' = —
' - —
) — -
'><103
7 8 9 10

EventID (Time)

Column



Mean Row

Row

IEntries 7013 |

Hit mean column vs. mean row: Ladder 5 Sensor 6

Mean Column

IEntries 8802 |

I Raw Hit column vs. row: Ladder 6 Sensor 1 I

10

Column

<rawhits>

Mean Row

IEntries 1780 |

INumber of raw hits vs. EventID: Ladder 5 Sensor GI

1x10°
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 7490 |

Hit mean column vs. mean row: Ladder 6 Sensor 1

Mean Column



<rawhits>

Mean Row

IEntries 1780 I IEntries 9733 I
INumber of raw hits vs. EventID: Ladder 6 Sensor 1I I Raw Hit column vs. row: Ladder 6 Sensor 2 I

: 2
E o
] @
'x103
0 1 2 3 4 5 6 7 8 9 10
EventID (Time) Column

IEntries 8474 | IEntries 1780 |
INumber of raw hits vs. EventID: Ladder 6 Sensor 2I

Hit mean column vs. mean row: Ladder 6 Sensor 2

N -
I ﬂ -
60 l 10 < j
o
50 v
10§ -
40 ]
1 i
30
20 1 E
1071 ]
10
- ] X103
6 8 10 12 0 5 6 7 8 9 10
Mean Column EventID (Time)



Row

<rawhits>

60

50

40

30

20

10

10

Entries 10747

I Raw Hit column vs. row: Ladder 6 Sensor 3 I

=110

]
2

4 6

8

10 12
Column

Entries 1780

INumber of raw hits vs. EventID: Ladder 6 Sensor 3I

5

6

Jx10°
7 8 9 10

EventID (Time)

Mean Row

IEntries 9625 l

IHit mean column vs. mean row: Ladder 6 Sensor 3I

Row

2

4 6 8 10 12
Mean Column

IEntries 10741|

Raw Hit column vs. row: Ladder 6 Sensor 4

Column



Mean Row

Row

IEntries 9625 | IEntries 1780 |
INumber of raw hits vs. EventID: Ladder 6 Sensor 4I

Hit mean column vs. mean row: Ladder 6 Sensor 4

<rawhits>

10§

'><1O3
0 1 2 3 4 5 6 7 8 9 10

Mean Column EventID (Time)

IEntries 9454 | IEntries 8285 |

Raw Hit column vs. row: Ladder 6 Sensor 5 Hit mean column vs. mean row: Ladder 6 Sensor 5

10 10

Mean Row
|
|1l
I II
10 H

Wy

I IIIIIIFI"IIIIIII |

—_—

1071 107

=
o

=
Oh

Column Mean Column



<rawhits>

Mean Row

IEntries 1780 I IEntries 7920 I

INumber of raw hits vs. EventID: Ladder 6 Sensor 5I

6 7 8 9 10

EventID (Time)

Raw Hit column vs. row: Ladder 6 Sensor 6

z i - —
o — —
o T ————
[ | e ———
— S —
_— o — _-
— | | - __
><1O3

Column

IEntries 6820 | IEntries 1780 |

Hit mean column vs. mean row: Ladder 6 Sensor 6

7
.5'

“Hi
[
o
=
"L

I I1III
Il III

=

Mean Column

INumber of raw hits vs. EventID: Ladder 6 Sensor 6I

/\ -

b i

E -
g

V] -

10 | =~

1 =

- ><103
0 5 6 7 8 9 10

EventID (Time)



Row

<rawhits>

IEntries 8575 |

Raw Hit column vs. row: Ladder 7 Sensor 1

10§

10 12
Column

IEntries 1780 |

INumber of raw hits vs. EventID: Ladder 7 Sensor 1I

4

5

6

4102
7 8 9 10

EventID (Time)

IEntries 7323 |

Hit mean column vs. mean row: Ladder 7 Sensor 1

|

10

Mean Row

:

)
|

'f

III Iul

1
III‘I

107t

I

1

|
|

10 12
Mean Column

IEntries 9760 |

Raw Hit column vs. row: Ladder 7 Sensor 2

Row

6 8 10 12
Column



Mean Row

Row

IEntries 8505 | IEntries 1780 |

Hit mean column vs. mean row: Ladder 7 Sensor 2

INumber of raw hits vs. EventID: Ladder 7 Sensor 2I

A =
2 i
10 = ]
g
v; -
10§ =
1 ]
1 E
107" ]
- X103
4 6 8 10 12 o0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 10696 | IEntries 9504 |
Raw Hit column vs. row: Ladder 7 Sensor 3 Hit mean column vs. mean row: Ladder 7 Sensor 3

Mean Row

Column Mean Column



<rawhits>

Mean Row

IEntries 1780 I IEntries 10467 I
INumber of raw hits vs. EventID: Ladder 7 Sensor 3I I Raw Hit column vs. row: Ladder 7 Sensor 4 I

Row

Ix10°
6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

IEntries 9334 | IEntries 1780 |
INumber of raw hits vs. EventID: Ladder 7 Sensor 4I

Hit mean column vs. mean row: Ladder 7 Sensor 4

! E
107t :
.X103
0 5 6 7 8 9 10
Mean Column EventID (Time)



<rawhits>

IEntries 9264 |

Raw Hit column vs. row: Ladder 7 Sensor 5

10

107t

,

|

10 12

Column

IEntries 1780 |

INumber of raw hits vs. EventID: Ladder 7 Sensor 5I

10

'><103
4 5 6 7 8 9 10

EventID (Time)

Mean Row

Row

IEntries 8214 |

Hit mean column vs. mean row: Ladder 7 Sensor 5

10

W
1] Illlli I‘
II Illl: IIIII

—
_—

|.
1'

I
I‘.‘

107t

0

2 4 6 8 10 12
Mean Column

IEntries 8027 |

Raw Hit column vs. row: Ladder 7 Sensor 6

Column

Page 38



Mean Row

Row

10

IEntries 6899 l

IHit mean column vs. mean row: Ladder 7 Sensor 6I

107t

Mean Column

IEntries 8600 |

I Raw Hit column vs. row: Ladder 8 Sensor 1 I

Column

<rawhits>

10

IEntries 1780 l

4 5

6

INumber of raw hits vs. EventID: Ladder 7 Sensor GI

1102
7 8 9 10

EventID (Time)

IEntries 7357 |

IHit mean column vs. mean row: Ladder 8 Sensor 1I

2
x 60F —
c [
® B ——
<3} L e —
= 5ol
X [
40
[ — =
30
20k —
10:- —
:-|---|--.|--.|-
2 4 6 8

Page 39

10
Mean Column



<rawhits>

Mean Row

IEntries 1780 l

INumber of raw hits vs. EventID: Ladder 8 Sensor 1I

1x103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8232 |

IHiI mean column vs. mean row: Ladder 8 Sensor 2I

4 6 8 10 12
Mean Column

IEntries 9367 l

I Raw Hit column vs. row: Ladder 8 Sensor 2 I

<rawhits>

10§

4 6

Column

IEntries 1780 |

INumber of raw hits vs. EventID: Ladder 8 Sensor 2I

2 3 4

5

6

Jx10°
7 8 9 10

EventID (Time)



Row

<rawhits>

10

IEntries 10577 |

Raw Hit column vs. row: Ladder 8 Sensor 3

Column

IEntries 1780 |

INumber of raw hits vs. EventID: Ladder 8 Sensor 3I

3 4

5

6

'><103
7 8 9 10

EventID (Time)

Mean Row

Row

IEntries 9389 |

IHit mean column vs. mean row: Ladder 8 Sensor 3I

10

Mean Column

IEntries 10398 |

I Raw Hit column vs. row: Ladder 8 Sensor 4 I

10

107

Column



Mean Row

Row

IEntries 9275 | IEntries 1780 |
INumber of raw hits vs. EventID: Ladder 8 Sensor 4I

Hit mean column vs. mean row: Ladder 8 Sensor 4

N

2 ]

10 = i

§ .

\Y -

10§ =

1 ]

1 E

107! ]

== Ix10°
4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 9376 | IEntries 8212 |
Raw Hit column vs. row: Ladder 8 Sensor 5 Hit mean column vs. mean row: Ladder 8 Sensor 5

il

10

Mean Row

it
I "I: IIIIIIILI '

—-_

[
___-
=

1071 107t

)

12

Column Mean Column
Page 42



<rawhits>

Mean Row

IEntries 1780 I

5

6

INumber of raw hits vs. EventID: Ladder 8 Sensor 5I

'><1O3
7 8 9 10

EventID (Time)

IEntries 6800 |

Hit mean column vs. mean row: Ladder 8 Sensor 6

C .

i

i

'

!

!

“IIIIIIII b

5L

Mean Column

Row

IEntries 7895 I

Raw Hit column vs. row: Ladder 8 Sensor 6

Column

IEntries 1780 |

INumber of raw hits vs. EventID: Ladder 8 Sensor 6I

5

6

4102
7 8 9 10

EventID (Time)



7121

Entries

Hit mean column vs. mean row: Ladder 9 Sensor 1

8302

Entries

Raw Hit column vs. row: Ladder 9 Sensor 1

<
b
@ 7
o o
i - —
8
2
c w
£ A I1B
=
5 | | _ 1]
) ~
o5 |2 _-__ __-_
St il __
= ®
a _
°
© mﬁ
i _‘
2
; _ 11
>
c
m F _ 7
=}
e
3}
=
1 _-_
o o o o
o™ N —
MOy Ues MOy
o
©
S
(32
g <)
< X O
c ] Tr T [Frrrr Tt | L L Tl
£
= o
@)
© [c0}
N~

Number of raw hits vs. EventID: Ladder 9 Sensor 1

Moy <slymel>

Column

Page 44

EventID (Time)



Mean Row

Row

IEntries 8436 |

Hit mean column vs. mean row: Ladder 9 Sensor 2

Mean Column

IEntries 10370 |

I Raw Hit column vs. row: Ladder 9 Sensor 3 I

Column

<rawhits>

Mean Row

IEntries 1780 |

INumber of raw hits vs. EventID: Ladder 9 Sensor 2I

10§

><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 9278 |

Hit mean column vs. mean row: Ladder 9 Sensor 3

10

107t

Mean Column

Page 45



<rawhits>

Mean Row

IEntries 1780 | IEntries 10443 |
INumber of raw hits vs. EventID: Ladder 9 Sensor 3I I Raw Hit column vs. row: Ladder 9 Sensor 4 I

1 lllllll 1 1 2 1 1
Row

Ix10°
0 1 2 3 4 5 6 7 8 9 10
EventID (Time) Column

IEntries 9258 | IEntries 1780 |
INumber of raw hits vs. EventID: Ladder 9 Sensor 4I

Hit mean column vs. mean row: Ladder 9 Sensor 4

/\ -
2 ]
= i
\%
10 E
1 -
1 E
107 ]
.x103
0 5 6 7 8 9 10
Mean Column EventID (Time)



Row

<rawhits>

60

50

40

10

IEntries 9337 |

I Raw Hit column vs. row: Ladder 9 Sensor 5 I

10

Column

IEntries 1780 |

INumber of raw hits vs. EventID: Ladder 9 Sensor 5I

3 4

5

6

'><103
7 8 9 10

EventID (Time)

Mean Row
i

Row

Page 47

IEntries 8147 |

Hit mean column vs. mean row: Ladder 9 Sensor 5

i
I
W

|

Ll

"kl

!

Mean Column

IEntries 7987 |

Raw Hit column vs. row: Ladder 9 Sensor 6

Column



Mean Row

Row

IEntries 6821|

Hit mean column vs. mean row: Ladder 9 Sensor 6

Mean Column

IEntries 8579 |

Raw Hit column vs. row: Ladder 10 Sensor 1

Column

IEntries 1780 |

<rawhits>

10k

5

INumber of raw hits vs. EventID: Ladder 9 Sensor GI

4102
6 7 8 9 10

EventID (Time)

IEntries 7312 |

Hit mean column vs. mean row: Ladder 10 Sensor

Mean Row

vl

i

.|
I"|

ﬂl'

n

8:'lllh

IIH I‘

12
Mean Column



<rawhits>

Mean Row

IEntries 1780 I IEntries 8980 I
INumber of raw hits vs. EventID: Ladder 10 Sensor j I Raw Hit column vs. row: Ladder 10 Sensor 2 I

'><103
6 7 8 9 10
EventID (Time) Column

IEntries 7857 | IEntries 1780 |
humber of raw hits vs. EventID: Ladder 10 Sensor 2I

Hit mean column vs. mean row: Ladder 10 Sensor

N
| 1] 7

— g
| V i
- — —_— 10§ _
e — _— : 1

L | | ——
— ™ 1 -
— W :
_r - : -
ﬂ ‘ 5___ -
--:_.— '><103

4 0 5 6 7 8 9 10
Mean Column EventID (Time)



IEntries 10517 |

I Raw Hit column vs. row: Ladder 10 Sensor 3 I

10

Column

IEntries 1780 |

humber of raw hits vs. EventID: Ladder 10 Sensor 3I

<rawhits>

10

><103
7 8 9 10

EventID (Time)

4 5 6

IEntries 9355 |

IHit mean column vs. mean row: Ladder 10 Sensor j

Mean Row

10

Mean Column

IEntries 10307 |

I Raw Hit column vs. row: Ladder 10 Sensor 4 I

Row

10

40

12
Column

10



Mean Row

Row

IEntries 9210 |

Hit mean column vs. mean row: Ladder 10 Sensor

Mean Column

IEntries 9490 |

Raw Hit column vs. row: Ladder 10 Sensor 5

Column

<rawhits>

Mean Row

IEntries 1780 |

bumber of raw hits vs. EventID: Ladder 10 Sensor 4I

10

4102
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8314 |

Hit mean column vs. mean row: Ladder 10 Sensor

Mean Column



<rawhits>

Mean Row

IEntries 1780 I IEntries 7966 I
humber of raw hits vs. EventID: Ladder 10 Sensor 5I I Raw Hit column vs. row: Ladder 10 Sensor 6 I

'><103
0 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

IEntries 6839 | IEntries 1780 |
humber of raw hits vs. EventID: Ladder 10 Sensor GI

Hit mean column vs. mean row: Ladder 10 Sensor

A .
(2] -
60 I = ]
10 4
: g
50 i v
1 10 .
40
1 1
30 ]
20 : 1 r
107! :
10
i P —— Ix10°
2 4 6 8 10 12 0 5 6 7 8 9 10
Mean Column EventID (Time)



Row

<rawhits>

IEntries 8238 | IEntries 7033 |

Raw Hit column vs. row: Ladder 11 Sensor 1

60

50

40

10 12

Column

Hit mean column vs. mean row: Ladder 11 Sensor

: £ == — —
c — I
e
=____;___
40 —_ ] [ S
30 —
[
T —, -
e —
[

1071 107t

=
(=)

L
\

il

!
q |

2 4 6 8 10
Mean Column

IEntries 1780 | IEntries 9389 |

INumber of raw hits vs. EventID: Ladder 11 Sensor j

10§

4

5

6

Raw Hit column vs. row: Ladder 11 Sensor 2

S A B S

Row

107t

7 8 9 10

EventID (Time)

><103

Column

Page 53



Mean Row

Row

IEntries 8215 l IEntries 1780 l
humber of raw hits vs. EventID: Ladder 11 Sensor 2I

IHlt mean column vs. mean row: Ladder 11 Sensor a

/\ -
2 |
= -
0§ .
\Y
10§ =
1 I
1 E
107t ]
1x10°
0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

IEntries 10647 | IEntries 9428 |
I Raw Hit column vs. row: Ladder 11 Sensor 3 I IHit mean column vs. mean row: Ladder 11 Sensor j

Mean Row

4 6 8 10 12 2 4 6 8 10 12

Column Mean Column
Page 54



<rawhits>

Mean Row

10

IEntries 1780 |

humber of raw hits vs. EventID: Ladder 11 Sensor SI

><1O3

4 5 6 7 8 9 10

EventID (Time)

IEntries 9254 |

Hit mean column vs. mean row: Ladder 11 Sensor

Mean Column

10

107t

Row

<rawhits>

10

IEntries 10299 |

I Raw Hit column vs. row: Ladder 11 Sensor 4 I

10 12
Column

IEntries 1780 |

humber of raw hits vs. EventID: Ladder 11 Sensor 4I

5

6

><103

7 8 9 10

EventID (Time)



I Raw Hit column vs. row: Ladder 11 Sensor 5 I

A . — P Iy R TR PRV
2 4 6 8 10 12

Column

I:umber of raw hits vs. EventID: Ladder 11 Sensor SI

<rawhits>

0 1 2 3 4 5 6 7 8 9 10
EventID (Time)

Entries 9401

10

Entries 1780

'X103

IEntries 8230 l

IHlt mean column vs. mean row: Ladder 11 Sensor j

Mean Row

2 4 6 8 10 12
Mean Column

IEntries 7947 |

I Raw Hit column vs. row: Ladder 11 Sensor 6 I

: 9
o 60
50
=110
40 i
30 T
20 -
10
2 4 6 8 10 12
Column

Page 56



Mean Row

Row

Entries 6810 IEntries 1780 l
humber of raw hits vs. EventID: Ladder 11 Sensor GI

IHit mean column vs. mean row: Ladder 11 Sensor ﬂ

N -
| -
< -
\Y
10 108 -
- 1 —:
.|...|...|...|...|...|.I 3x10°
2 4 6 8 10 12 0O 1. 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

Entries 8233 IEntries 7063 |
I Raw Hit column vs. row: Ladder 12 Sensor 1I IHit mean column vs. mean row: Ladder 12 Sensor il

:
@ 60
& 10
()
= 50
40
1
30
20
1071
10
1 [re— P I T o S R T [ TR N S TN RO
2 4 6 8 10 12 2 4 6 8 10 12
Column Mean Column



<rawhits>

Mean Row

Entries 1780

4

5

6

INumber of raw hits vs. EventID: Ladder 12 Sensor j

4« 103
7 8 9 10

EventID (Time)

Entries 8305

IHil mean column vs. mean row: Ladder 12 Sensor EI

2

4

6

8

10 12
Mean Column

IEntries 9474 l

I Raw Hit column vs. row: Ladder 12 Sensor 2 I

<rawhits>

10§

2

4 6

8

10 12
Column

IEntries 1780 |

2 3 4

5

6

I:umber of raw hits vs. EventID: Ladder 12 Sensor 2I

{x10°
7 8 9 10

EventID (Time)



I Raw Hit column vs. row: Ladder 12 Sensor 3 I

2 4 6 8 10 12
Column

I:umber of raw hits vs. EventID: Ladder 12 Sensor 3I

<rawhits>

4 5 6 7 8 9 10
EventID (Time)

Entries 10528

10

Entries 1780

Jx10°

IEntries 9320 l

IHlt mean column vs. mean row: Ladder 12 Sensor j

Mean Row

2 4 6 8 10 12
Mean Column

IEntries 10684 |

I Raw Hit column vs. row: Ladder 12 Sensor 4I

: 9
@ 60
50 |
40
30 110
20 Z
10
2 4 6 8 10 12
Column

Page 59



Mean Row

Row

IEntries 9444 |

IHit mean column vs. mean row: Ladder 12 Sensorj

10

10
Mean Column

IEntries 9305 |

I Raw Hit column vs. row: Ladder 12 Sensor 5 I

Column

<rawhits>

Mean Row

IEntries 1780 |

bumber of raw hits vs. EventID: Ladder 12 Sensor 4I

'><1O3
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8165 |

Hit mean column vs. mean row: Ladder 12 Sensor

Mean Column

Page 60



<rawhits>

Mean Row

IEntries 1780 l IEntries 7900 l
humber of raw hits vs. EventID: Ladder 12 Sensor 5I I Raw Hit column vs. row: Ladder 12 Sensor 6 I

'><103 =l e ] e
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12

EventID (Time) Column

IEntries 6793 | IEntries 1780 |
I:umber of raw hits vs. EventID: Ladder 12 Sensor 6I

IHil mean column vs. mean row: Ladder 12 Sensor d

N
52 -
60 . = "
g
50 v
=110
- 10g T
40 ] :
30
20 ’ 1 r
10 .
- X103
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



IEntries 8386 |

Raw Hit column vs. row: Ladder 13 Sensor 1

Column

IEntries 1780 |

INumber of raw hits vs. EventID: Ladder 13 Sensor j

<rawhits>

10k

4102
4 5 6 7 8 9 10

EventID (Time)

IEntries 7132 |

Hit mean column vs. mean row: Ladder 13 Sensor

Mean Row

— o
——

10....__ -

T
2

Mean Column

IEntries 9440 |

I Raw Hit column vs. row: Ladder 13 Sensor 2 I

Row

Column



Mean Row

Row

60

50

40

30

20

10

Entries 8332

IHlt mean column vs. mean row: Ladder 13 Sensor a

[ — =10
| ' 7
| ] — -
| |
__
__ [ | __

2

4 6 8 10 12

Mean Column

Entries 10544

I Raw Hit column vs. row: Ladder 13 Sensor 3 I

=110

2

10 12

Column

<rawhits>

IEntries 1780 l

humber of raw hits vs. EventID: Ladder 13 Sensor 2I

1x10°
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 9332 |

IHit mean column vs. mean row: Ladder 13 Sensor j

S oof o
x 60f
§ : —
= s50f L
: — - _10
40 — _— 7
: | -
B j— — -
clo] — — |
20 = .
10F
I S PR DRI TR L
2 4 6 8 10 12

Page 63

Mean Column



<rawhits>

Mean Row

IEntries 1780 | IEntries 10620 |
humber of raw hits vs. EventID: Ladder 13 Sensor SI I Raw Hit column vs. row: Ladder 13 Sensor 4 I

S
. @ 60
l 10
1 50
] 40
7 1
] 30
E 20
: 10—1
i 10
4x10°
0 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

IEntries 9425 | IEntries 1780 |
humber of raw hits vs. EventID: Ladder 13 Sensor 4I

Hit mean column vs. mean row: Ladder 13 Sensor

N
b ]
= -
g .
V -
10 -
1 -
.x103
0 5 6 7 8 9 10
Mean Column EventID (Time)



Row

<rawhits>

10

IEntries 9441|

Raw Hit column vs. row: Ladder 13 Sensor 5

Column

IEntries 1780 |

humber of raw hits vs. EventID: Ladder 13 Sensor SI

3 4

5

6

'><103
7 8 9 10

EventID (Time)

IEntries 8274 |

Hit mean column vs. mean row: Ladder 13 Sensor

Mean Row

Mean Column

IEntries 7515 |

Raw Hit column vs. row: Ladder 13 Sensor 6

Row

iI II
”"IIIII| |I

=

12

Column
Page 65



Mean Row

Row

60

50

40

30

20

10

Entries 6498

IHit mean column vs. mean row: Ladder 13 Sensor ﬂ

10

107t

2 4 6 8 10 12
Mean Column

I Raw Hit column vs. row: Ladder 14 Sensor 1I

=110

PR e ST e e P [P o o [P e PO |
2 4 6 8 10 12

Column

Entries 8487

<rawhits>

Mean Row
(o))
o

a1
o

N
o

30

20

10

IEntries 1780 l

humber of raw hits vs. EventID: Ladder 13 Sensor GI

4103
1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 7216 |

IHit mean column vs. mean row: Ladder 14 Sensor il

e Y o s e PO |

6 8 10 12
Mean Column



<rawhits>

Mean Row

60

50

40

30

20

10

INumber of raw hits vs. EventID: Ladder 14 Sensor j

Entries 1780 IEntries 9585 l

I Raw Hit column vs. row: Ladder 14 Sensor 2 I

|
Ix10° P LV I e IR P A
2 3 4 5 6 7 8 9 10 2 4 6 8 10 12

EventID (Time)

IHil mean column vs. mean row: Ladder 14 Sensor EI

4 6 8 10 12
Mean Column

Column

Entries 8358 IEntries 1780 |

I:umber of raw hits vs. EventID: Ladder 14 Sensor 2I

N o
"I -
E -
% -
V -
110 10§ 3
J 1 r
Jx10°

0O 1 2 3 4 5 6 7 8 9 10
EventID (Time)



Row

<rawhits>

60

50

40

30

20

10

Entries 10692

I Raw Hit column vs. row: Ladder 14 Sensor 3 I

=110

4 6 8
Column

Entries 1780

I:umber of raw hits vs. EventID: Ladder 14 Sensor 3I

x10°
2 3 4 5 6 7 8 9 10

EventID (Time)

Mean Row

Row

60

50

40

30

20

10

60

50

40

30

20

10

IEntries 9498 l

IHlt mean column vs. mean row: Ladder 14 Sensor j

=110

PR [ [ T T TN S T [ T e e T

2 4 6 8 10 12
Mean Column

IEntries 10713 |
I Raw Hit column vs. row: Ladder 14 Sensor 4I
=110

2 4 6 8 10 12

Column

Page 68



Mean Row

Row

Entries 9458

IHlt mean column vs. mean row: Ladder 14 Sensorj

=110

| e e T T S T [T [T TN e T T T Y

2 4 6 8 10 12
Mean Column

Entries 9288

I Raw Hit column vs. row: Ladder 14 Sensor 5 I

=110

W — P

2 4 6 8 10 12
Column

<rawhits>

10

Mean Row

IEntries 1780 l

humber of raw hits vs. EventID: Ladder 14 Sensor 4I

'><103
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8181|

IHit mean column vs. mean row: Ladder 14 Sensor j

T S — P

4 6 8 10 12
Mean Column



<rawhits>

Mean Row

Entries 1780 IEntries 8015 l
humber of raw hits vs. EventID: Ladder 14 Sensor 5I I Raw Hit column vs. row: Ladder 14 Sensor 6 I

Ix10° P NP e L ey W— ]
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Entries 6821 IEntﬂes 1780|
I:umber of raw hits vs. EventID: Ladder 14 Sensor 6I

IHil mean column vs. mean row: Ladder 14 Sensor d

N
2 .
E -
% -
5 -
10 r
1 E
.xlOS
0O 1. 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



Row

<rawhits>

I Raw Hit column vs. row: Ladder 15 Sensor 1I

—
I
P IEETTET T N EEE I BRE e B

2

4 6

8

10 12
Column

INumber of raw hits vs. EventID: Ladder 15 Sensor j

5

6

7 8 9 10
EventID (Time)

Entries 8674

10

Entries 1780

'><103

Mean Row

IEntries 7383 l

IHit mean column vs. mean row: Ladder 15 Sensor j

Row

Page 71

Mean Column

IEntries 9410 |

Raw Hit column vs. row: Ladder 15 Sensor 2

Column



Mean Row

Row

IEntries 8276 |

Hit mean column vs. mean row: Ladder 15 Sensor

10

=

w

N

107t

10 12
Mean Column

IEntries 10634 |

I Raw Hit column vs. row: Ladder 15 Sensor 3 I

10

Column

<rawhits>

Mean Row

IEntries 1780 |

bumber of raw hits vs. EventID: Ladder 15 Sensor ZI

10}

4102
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 9521|

IHit mean column vs. mean row: Ladder 15 Sensor j

10

Mean Column



<rawhits>

Mean Row

IEntries 1780 | IEntries 10594 |
humber of raw hits vs. EventID: Ladder 15 Sensor SI I Raw Hit column vs. row: Ladder 15 Sensor 4 I

- % S
] @ 60
' 10
1 50
; 40
y 1
l 30
- 20
] 1071
: 10
Ix10°
0 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

IEntries 9428 | IEntries 1780 |
humber of raw hits vs. EventID: Ladder 15 Sensor 4I

Hit mean column vs. mean row: Ladder 15 Sensor

N =

b ]

= ]

10 % ]
\%

10 E

1 E

1 E

107 :

Ix10°
0 5 6 7 8 9 10
Mean Column EventID (Time)



Row

<rawhits>

I Raw Hit column vs. row: Ladder 15 Sensor 5 I

4 6

8

10 12
Column

humber of raw hits vs. EventID: Ladder 15 Sensor 5I

5

6

7 8 9 10
EventID (Time)

Entries 9476

10

Entries 1780

'X103

Mean Row

Row

IEntries 8297 l

IHit mean column vs. mean row: Ladder 15 Sensor j

4 6 8 10 12
Mean Column

IEntries 7781|

I Raw Hit column vs. row: Ladder 15 Sensor 6 I

10

107t

10
Column



Mean Row

Row

IEntries 6642 l IEntries 1780 l
humber of raw hits vs. EventID: Ladder 15 Sensor GI

IHit mean column vs. mean row: Ladder 15 Sensor ﬂ

/\ -
2 -
< -
\Y
10 ! ’ -:
| ]
1 E
4102

0O 1. 2 3 4 5 6 7 8 9 10

Mean Column EventID (Time)

IEntries 8567 | IEntries 7307 |
I Raw Hit column vs. row: Ladder 16 Sensor 1I IHit mean column vs. mean row: Ladder 16 Sensor il

Mean Row
(o))
o

a1
o

=110

N
o

30

20

10

2 4 6 8 10 12
Column Mean Column



<rawhits>

Mean Row

Entries 1780 IEntries 9759 l
INumber of raw hits vs. EventID: Ladder 16 Sensor j I Raw Hit column vs. row: Ladder 16 Sensor 2 I

1x10°
0 1 2 3 4 5 6 7 8 9 10
EventID (Time) Column

Entries 8534 IEntries 1780 |
I:umber of raw hits vs. EventID: Ladder 16 Sensor 2I

IHil mean column vs. mean row: Ladder 16 Sensor EI

N .
2 .
E -
% -
v -
10§ E
<10 :
1 E
| o R (U v b 1x10°
2 4 6 8 10 12 0O 1. 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



I Raw Hit column vs. row: Ladder 16 Sensor 3 I

=110

2 4 6 8 10 12
Column

I:umber of raw hits vs. EventID: Ladder 16 Sensor 3I

<rawhits>

4« 103
4 5 6 7 8 9 10

EventID (Time)

Entries 10595

Entries 1780

Mean Row

Row

IEntries 9420 l

IHlt mean column vs. mean row: Ladder 16 Sensor j

60

50

=110

40

30

20

10

]
2 4 6 8 10 12

Mean Column

IEntries 10434 |
I Raw Hit column vs. row: Ladder 16 Sensor 4I
60 II

50

40

30

20

10

2 4 6 10 12
Column

Page 77



Mean Row

Row

IEntries 9307 | IEntries 1780 |
bumber of raw hits vs. EventID: Ladder 16 Sensor 4I

IHit mean column vs. mean row: Ladder 16 Sensorj

/\ -
2 ]
g .
© 4
Vv
10 -
1 -
- ><103
o0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 9511| IEntries 8288 |
Raw Hit column vs. row: Ladder 16 Sensor 5 Hit mean column vs. mean row: Ladder 16 Sensor
—— = = —— ——
o =
- 10
I I
10 % " — e —
(] |
E I I I -
I I
I

40

[EEy

107t

107t

mlll

12

8 10 12

Column Mean Column
Page 78



<rawhits>

Mean Row

IEntries 1780 l IEntries 8293 l
humber of raw hits vs. EventID: Ladder 16 Sensor 5I I Raw Hit column vs. row: Ladder 16 Sensor 6 I

'><103 P ] e
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12

EventID (Time) Column

IEntries 7027 | IEntries 1780 |
I:umber of raw hits vs. EventID: Ladder 16 Sensor 6I

IHil mean column vs. mean row: Ladder 16 Sensor d

A .
52 -
60 . = i
§ 1
\Y% -
50
=110
- 10 r
40 b .
30 - 1
20 1 r
10 .
1 Jx10°
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



Row

60

50

40

30

20

10

10

<rawhits>

107t

1072

0 1 2 3 4 5 6 7 8

[Entries 0]

I Raw Hit column vs. row: Ladder 17 Sensor 1I

1

N =

4 6 8 10 12
Column

Entries 1780

INumber of raw hits vs. EventID: Ladder 17 Sensor j

><103
9 10

EventID (Time)

[Enties o]

IHit mean column vs. mean row: Ladder 17 Sensor j

l

60

Mean Row

50

40

30

20

10

4 6 8 10 12
Mean Column

IEntries O|

N =

I Raw Hit column vs. row: Ladder 17 Sensor 2 I

l

Row

60

50

40

30

20

10

2 4 6 8 10 12
Column

Page 80



Mean Row

Row

60

50

40

30

20

10

IEntries 0 | IEntries 1780 |
bumber of raw hits vs. EventID: Ladder 17 Sensor 2I

IHit mean column vs. mean row: Ladder 17 Sensor j

LA LA I LA BN BN LA N

- . [

n - = 10

g ] g

[ - v

3 E 1

: ] 10

1072

T N PR PR B BT x10°
2 4 6 8 10 12 o0 1 2 3 4 5 6 7 8 9 10

Mean Column EventID (Time)
IEntries 10739 | IEntries 9520 |
Raw Hit column vs. row: Ladder 17 Sensor 3 Hit mean column vs. mean row: Ladder 17 Sensor

Mean Row

Column Mean Column



<rawhits>

Mean Row

IEntries 1780 | IEntries 10591|
humber of raw hits vs. EventID: Ladder 17 Sensor SI I Raw Hit column vs. row: Ladder 17 Sensor 4 I

1 % —
J x 60
J 10
l 50
] 40
i 1
1 30
- 20
] 107t
1 10
1x10°
0O 1 2 3 4 5 6 7 8 9 10
EventID (Time) Column

IEntries 9403 | IEntries 1780 |
humber of raw hits vs. EventID: Ladder 17 Sensor 4I

Hit mean column vs. mean row: Ladder 17 Sensor

1 E
107! ]
.X103
0 5 6 7 8 9 10
Mean Column EventID (Time)



I Raw Hit column vs. row: Ladder 17 Sensor 5 I

e Sy = | P e e i WP |

2

<rawhits>

4 6

8

10 12
Column

4

5

6

I:umber of raw hits vs. EventID: Ladder 17 Sensor SI

7 8 9 10
EventID (Time)

I
__
I

Entries 9787

10

Entries 1780

'X103

Mean Row

IEntries 8472 l

IHlt mean column vs. mean row: Ladder 17 Sensor j

e T gy — | SR |

Row

4 6 8 10 12
Mean Column

IEntries 8006 |

I Raw Hit column vs. row: Ladder 17 Sensor 6 I

Column



Mean Row

Row

60

50

40

30

20

10

IEntries 6848 l

IHlt mean column vs. mean row: Ladder 17 Sensor ﬂ

10

12

Mean Column

IEntries 8717 |

I Raw Hit column vs. row: Ladder 18 Sensor 1I

- —
— B
— e
— | ]
| ] —
| | -
|
|
— N —
| | —
4 6 8 10

Column

<rawhits>

10}

60

Mean Row

50

40

30

20

10

IEntries 1780 l

4

5

humber of raw hits vs. EventID: Ladder 17 Sensor GI

><103
6 7 8 9 10

EventID (Time)

IEntries 7410 |

IHit mean column vs. mean row: Ladder 18 Sensor I

— I
= |
I |
I ___
I
—
__
I __
— f— __
2 4 6 8 10

Mean Column



<rawhits>

Mean Row

4

5 6

INumber of raw hits vs. EventID: Ladder 18 Sensor j

Entries 1780 IEntries 9732 l

I Raw Hit column vs. row: Ladder 18 Sensor 2 I

><103 e ] o e T IS (S [

7 8 9 10 2 4 6 8 10 12

EventID (Time)

IHil mean column vs. mean row: Ladder 18 Sensor EI

4

6

8

10 12
Mean Column

Column

Entries 8516 IEntries 1780 |

I:umber of raw hits vs. EventID: Ladder 18 Sensor 2I

<rawhits>

10}
=110

{x10°
0O 1 2 3 4 5 6 7 8 9 10

EventID (Time)



Row

<rawhits>

10

IEntries 10928 |

I Raw Hit column vs. row: Ladder 18 Sensor 3 I

Column

IEntries 1780 |

humber of raw hits vs. EventID: Ladder 18 Sensor 3I

3 4

5

6

'><103
7 8 9 10

EventID (Time)

IEntries 9645 |

IHit mean column vs. mean row: Ladder 18 Sensor j

Mean Row

2 4 6 8 10 12
Mean Column

IEntries 10658 |

I Raw Hit column vs. row: Ladder 18 Sensor 4 I

Row

Column



Mean Row

Row

IEntries 9479 |

IHit mean column vs. mean row: Ladder 18 Sensorj

10

Mean Column

IEntries 9466 |

Raw Hit column vs. row: Ladder 18 Sensor 5

Column

<rawhits>

Mean Row

IEntries 1780 |

bumber of raw hits vs. EventID: Ladder 18 Sensor 4I

10§

><103
0 1 2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8274 |

Hit mean column vs. mean row: Ladder 18 Sensor

Mean Column

Page 87



<rawhits>

Mean Row

IEntries 1780 | IEntries 796l|
humber of raw hits vs. EventID: Ladder 18 Sensor 5I I Raw Hit column vs. row: Ladder 18 Sensor 6 I

10§

><1O3
4 5 6 7 8 9 10

EventID (Time) Column

IEntries 6789 | IEntries 1780 |
humber of raw hits vs. EventID: Ladder 18 Sensor GI

Hit mean column vs. mean row: Ladder 18 Sensor

_— — — —: é "
—— —— g -
__ - I 10 i _-
— T — || __ ‘ :
" — S— - - I 1 i
<lo] = e ——— ]
20 i e 1 r
| fe— -1 -
1 - | -——-— b
o N
S e el o Ix10°
6 8 0 5 6 7 8 9 10

Mean Column EventID (Time)



7280

Entries

8567

Entries

Hit mean column vs. mean row: Ladder 19 Sensor

Raw Hit column vs. row: Ladder 19 Sensor 1

i

MOY UeaN

_ ___ i1l 1"

A A

9626

Entries

Mean Column

____,__

-f 15

1780

Entries

IR L

Column

L
|15

% _ﬁ_ =f hm

_ _!=_h

moy

_ﬁ -%r_

Raw Hit column vs. row: Ladder 19 Sensor 2

[Number of raw hits vs. EventID: Ladder 19 Sensor

10

_1 =;r_:

107t

__ ___Lﬂ__

_ L "MHQ$T"

.x103

;W

<slymes>

—

9 10

8
EventID (Time)

Column

Page 89



Mean Row

Row

IEntries 8373 l

Hit mean column vs. mean row: Ladder 19 Sensor

Mean Column

IEntries 10853 |

I Raw Hit column vs. row: Ladder 19 Sensor 3 I

Column

<rawhits>

10}

60

Mean Row

50

40

30

20

10

IEntries 1780 l

humber of raw hits vs. EventID: Ladder 19 Sensor 2I

4102
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 9610 |

IHit mean column vs. mean row: Ladder 19 Sensor il

4 6 8 10 12
Mean Column



<rawhits>

Mean Row

Entries 1780 IEntries 10704 l
humber of raw hits vs. EventID: Ladder 19 Sensor 3I I Raw Hit column vs. row: Ladder 19 Sensor 4 I

Ix10° T e o S e T o ] b
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Entries 9497 IEntries 1780 |
I:umher of raw hits vs. EventID: Ladder 19 Sensor 4I

IHil mean column vs. mean row: Ladder 19 Sensor j

A .
ﬂ -
- E ]
g
g ]
10 r
=10 i
d 1 -
.XlOB
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)



Row

<rawhits>

Entries 9497

I Raw Hit column vs. row: Ladder 19 Sensor 5 I

=110

4 6 8 10 12
Column

Entries 1780

humher of raw hits vs. EventID: Ladder 19 Sensor 5I

4102
5 6 7 8 9 10

EventID (Time)

Mean Row

Row

IEntries 83ll|

IHit mean column vs. mean row: Ladder 19 Sensor j

4 6 8 10 12
Mean Column

IEntries 8001|

I Raw Hit column vs. row: Ladder 19 Sensor 6 I

Column



Mean Row

Row

IEntries 6833 l IEntries 1780 l
humber of raw hits vs. EventID: Ladder 19 Sensor GI

Hit mean column vs. mean row: Ladder 19 Sensor

N
ﬂ -
10 = -
\Y
0@ -
1 ]
1 =
10 :
4x10°
2 4 6 8 10 12 0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)

IEmries 8585 | IEntries 7327 |
I Raw Hit column vs. row: Ladder 20 Sensor 1I IHit mean column vs. mean row: Ladder 20 Sensor il

I
60 x 60
[y
©
()
50 = 50
40 710 40
30 J 30
20 i 20
10 10
2 4 6 8 10 12 2 4 6 8 10 12 1
Column Mean Column



<rawhits>

Mean Row

Entries 1780 IEntries 9659 l
INumber of raw hits vs. EventID: Ladder 20 Sensor j I Raw Hit column vs. row: Ladder 20 Sensor 2 I

Ix10° P e .
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Entries 8375 IEntries 1780 |
I:umber of raw hits vs. EventID: Ladder 20 Sensor 2I

IHil mean column vs. mean row: Ladder 20 Sensor EI

<rawhits>

By
o

=110

x10°
0O 1 2 3 4 5 6 7 8 9 10

Mean Column EventID (Time)




Entries 10590 IEntries 9380 l
I Raw Hit column vs. row: Ladder 20 Sensor 3 I IHlt mean column vs. mean row: Ladder 20 Sensor j

S ool a
x 60F
C -
< [
<) L
= 50
aof 10
30f -
20F y
e [e—— T b b R T PR - = TR — — S A s
2 4 6 8 10 12 2 4 6 8 10 12
Column Mean Column

Entries 1780 IEntries 10905 |

I:umber of raw hits vs. EventID: Ladder 20 Sensor 3I I Raw Hit column vs. row: Ladder 20 Sensor 4 I

Row

<rawhits>

3
x10
4 5 6 7 8 9 10 2 4 6 8 10 12

EventID (Time) Column
Page 95




Mean Row

Row

Entries 9585

IHlt mean column vs. mean row: Ladder 20 Sensorj

10

4 6 8 10 12

Il
Mean Column

Entries 9553

I Raw Hit column vs. row: Ladder 20 Sensor 5 I

=110

4 6 8 10 12
Column

IEntries 1780 l

humber of raw hits vs. EventID: Ladder 20 Sensor 4I

<rawhits>

10

4x103
O 1.2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8319 |

IHit mean column vs. mean row: Ladder 20 Sensor j

Mean Row

I
e B e WP 1
2 4 6 8 10 12

Mean Column
Page 96



<rawhits>

Mean Row

IEntries 1780 I

humber of raw hits vs. EventID: Ladder 20 Sensor 5I

1<10°
2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 7004 |

Hit mean column vs. mean row: Ladder 20 Sensor

Mean Column

<rawhits>

=Y
o

IEntries 8259 I

Raw Hit column vs. row: Ladder 20 Sensor 6

10 12
Column

IEntries 1780 |

humber of raw hits vs. EventID: Ladder 20 Sensor GI

5

6

4102
7 8 9 10

EventID (Time)



7441

Entries

8689

Entries

Hit mean column vs. mean row: Ladder 21 Sensor

Raw Hit column vs. row: Ladder 21 Sensor 1

10
107t

_J __ 7____11
| _ _, __" __*" _______“_____“
0__ 5 _c______ A

© —
MOY UeaN

i

-‘ L__t__:
LR s

moy

Mean Column

Column

9829

Entries

1780

Entries

Raw Hit column vs. row: Ladder 21 Sensor 2

[Number of raw hits vs. EventID: Ladder 21 Sensor

)
I\

moy

____ _*

ﬁﬁ__ __r

.x103

<slymes>

9 10

8
EventID (Time)

Column

Page 98



Mean Row

a1

Row

IEntries 8605 |

Hit mean column vs. mean row: Ladder 21 Sensor

I IIII Iild

N

|+'.1

|
+
I ||I|| ||

)

'#

II“iI I
5 IIIII IIIII I

"'

NII
I
1

4 6 8 10 12

Mean Column

IEntries 8958 |

10

107t

Raw Hit column vs. row: Ladder 21 Sensor 3

60

50

40

30

20

10

Column

10

107t

IEntries 1780 |

bumber of raw hits vs. EventID: Ladder 21 Sensor ZI

A .
2 ]
= i
% i
V -
10f E
1 E
Ix10°
0O 1 2 3 4 5 6 7 8 9 10
EventID (Time)
IEntries 7988 |
Hit mean column vs. mean row: Ladder 21 Sensor
C% s —
x 60f — —
s [ — 10
% L — — —
— o —
50 - _- T
: __ I
= __
40 _- _- —
: I — 1
B —
20F I
[ - ! —___—-
[ — r — ]_O_l
2 10 12

Mean Column



<rawhits>

Mean Row

IEntries 1780 I IEntries 10892 I

humber of raw hits vs. EventID: Ladder 21 Sensor SI

2 3 4 5 6 7 8 9 10

EventID (Time)

><1O3

I Raw Hit column vs. row: Ladder 21 Sensor 4 I

3
T 60
10
50
40
1
30
20
107t

Column

IEntries 9644 | IEntries 1780 |

Hit mean column vs. mean row: Ladder 21 Sensor

Mean Column

humber of raw hits vs. EventID: Ladder 21 Sensor 4I

10

<rawhits>

=

EventID (Time)

Page 100



IEntries 9468 | IEntries 8299 |

I Raw Hit column vs. row: Ladder 21 Sensor 5 I Hit mean column vs. mean row: Ladder 21 Sensor

II
| |
IIHII
i N[ RE
Mean Row

‘ ‘ 1
III I: [
i

"t :llllllII

Column Mean Column

IEntries 1780 | IEntries 6857 |
I Raw Hit column vs. row: Ladder 21 Sensor 6 I

humber of raw hits vs. EventID: Ladder 21 Sensor SI

Row

10

<rawhits>

10§

raaaanl
i
o

] 107
Ix10°
4 5 6 7 8 9 10 10
EventID (Time) Column

Page 101



Mean Row

Row

IEntries 5879 | IEntries 1780 |
bumber of raw hits vs. EventID: Ladder 21 Sensor 6I

IHit mean column vs. mean row: Ladder 21 Sensor ﬂ

N
[ -
60" | 10 g 4
S -
50 v
10§ -
40 ]
1 -
30 i
2 1 E
107 ]
10 ]
- ><103
10 o0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 8832 | IEntries 7547 |
Raw Hit column vs. row: Ladder 22 Sensor 1 Hit mean column vs. mean row: Ladder 22 Sensor

D
o

10

Mean Row

40

‘I"I
L
".".m

8
1

107t

M

6 8 10

Column Mean Column
Page 102



<rawhits>

Mean Row

Entries 1780 IEntries 9684 l
INumber of raw hits vs. EventID: Ladder 22 Sensor j I Raw Hit column vs. row: Ladder 22 Sensor 2 I

Ix10° A | W
0O 1 2 3 4 5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Entries 8440 IEntries 1780 |
I:umber of raw hits vs. EventID: Ladder 22 Sensor 2I

IHil mean column vs. mean row: Ladder 22 Sensor EI

<rawhits>

10}
=110

x10°
2 4 6 8 10 12 0O 1 2 3 4 5 6 7 8 9 10

Mean Column EventID (Time)
Page 103



Row

<rawhits>

10

IEntries 10796 | IEntries 9534 |

Raw Hit column vs. row: Ladder 22 Sensor 3

Column

Hit mean column vs. mean row: Ladder 22 Sensor

Mean Row

Mean Column

IEntries 1780 | IEntries 10899 |

humber of raw hits vs. EventID: Ladder 22 Sensor 3I

4

5

6

Raw Hit column vs. row: Ladder 22 Sensor 4

Row

10

107t

7 8 9 10

EventID (Time)

><103

Column

Page 104



Mean Row

Row

IEntries 9623 l

IHit mean column vs. mean row: Ladder 22 Sensorj

4 6 8 10 12
Mean Column

IEmries 9797 |

I Raw Hit column vs. row: Ladder 22 Sensor 5 I

Column

IEntries 1780 l

humber of raw hits vs. EventID: Ladder 22 Sensor 4I

<rawhits>

10

4103
O 1.2 3 4 5 6 7 8 9 10

EventID (Time)

IEntries 8497 |
IHit mean column vs. mean row: Ladder 22 Sensor j

50

Mean Row

40

30

20

10

10 12
Mean Column

Page 105



<rawhits>

Mean Row

IEntries 1780 I

humber of raw hits vs. EventID: Ladder 22 Sensor 5I

IEntries 8043 I

Raw Hit column vs. row: Ladder 22 Sensor 6

Row

1<10°
6 7 8

EventID (Time)

IEntries 6901|

Hit mean column vs. mean row: Ladder 22 Sensor

"
[
O“
=
B

Illllll;l‘ll I

0

Mean Column
Page 106

9 10 2

8 10 12

Column

IEntries 1780 |

humber of raw hits vs. EventID: Ladder 22 Sensor GI

5

4102
6 7 8 9 10

EventID (Time)



Row

<rawhits>

10

IEntries 8804 | IEntries 7480 |

Raw Hit column vs. row: Ladder 23 Sensor 1

Column

Hit mean column vs. mean row: Ladder 23 Sensor

Mean Row

Mean Column

IEntries 1780 | IEntries 9741|

INumber of raw hits vs. EventID: Ladder 23 Sensor j

3 4

5

6

Raw Hit column vs. row: Ladder 23 Sensor 2

Row

107t

><103

7 8 9 10 4 6 8 12

EventID (Time)

Column
Page 107



Mean Row

Row

IEntrieS 8481| IEntries 1780 |
bumber of raw hits vs. EventID: Ladder 23 Sensor ZI

Hit mean column vs. mean row: Ladder 23 Sensor

I — G /\ -

— - 2 ]

] — - < -
o = g

\7 -

- _— _F

S — -

E—— 7
—_— i ]
__ __ | :

‘ I __

—_—
ﬁ-__ I I i
I——
S
e m—— e — 1 E
] -
] | I ]
C —— L S— .
I -
- | I I -
—— * L —_— . x103
o0 1 2 3 4 5 6 7 8 9 10
Mean Column EventID (Time)
IEntries 10984 | IEntries 9750 |
Raw Hit column vs. row: Ladder 23 Sensor 3 Hit mean column vs. mean row: Ladder 23 Sensor
60

10

(=Y
o
Mean Row

50

40

30

20

107t

107t

—
-

=
——
6

6 8 10 12 12

Column Mean Column
Page 108



<rawhits>

Mean Row

IEntries 1780 I IEntries 10903 I
humber of raw hits vs. EventID: Ladder 23 Sensor SI I Raw Hit column vs. row: Ladder 23 Sensor 4 I

] g
i x 60
1 410
] 50 ]
] 40 1
] T
1 30 [ 1
- 20
] 107t
1 10
.x103

6 7 8 9 10 2 4 6 8 10 12

EventID (Time) Column

IEntries 9696 | IEntries 1780 |
humber of raw hits vs. EventID: Ladder 23 Sensor 4I

Hit mean column vs. mean row: Ladder 23 Sensor

N

b ]

= .

% .

\% -

10} 3

1 E

.X103

0 5 6 7 8 9 10

Mean Column EventID (Time)

Page 109



I Raw Hit column vs. row: Ladder 23 Sensor 5 I

Row

Entries 9452

4 6 8 10 12
Column

humber of raw hits vs. EventID: Ladder 23 Sensor 5I

Entries 1780

IEntries 8321|

IHit mean column vs. mean row: Ladder 23 Sensor j

Mean Row

10

2 4 6 8 10 12
Mean Column

IEntries 8367 |

Raw Hit column vs. row: Ladder 23 Sensor 6

2 : Z
< ] * 10
% -
5 .

] 1

] 107!

Ix10°

5 6 7 8 9 10 2 4 6 8 10 12
EventID (Time) Column

Page 110



1780

Entries

.x103

7120

Entries

umber of raw hits vs. EventID: Ladder 23 Sensor 6

S = °
—

<suymes>

]

: _ 7 I 1__#

Hit mean column vs. mean row: Ladder 23 Sensor

o o o

MOY UeaN

_ﬂ_ﬁ_ __ __—- __1

EventID (Time)

Mean Column

7388

Entries

8631

Entries

Hit mean column vs. mean row: Ladder 24 Sensor

Raw Hit column vs. row: Ladder 24 Sensor 1

il __ = _ _____;_

!t ___

_"0___?_____"_____,____"__.”____

o

MOy ueap

: __;_____ 7 } ___ =

_____L__ 7____ _ _e

____ L1 ___ 1

i —‘ <

___ a___L_ _Lz
o

moy

Mean Column

Column

Page 111



<rawhits>

Mean Row

IEntries 1780 I

INumber of raw hits vs. EventID: Ladder 24 Sensor j

1<10°
9 10

0 1 2 3 4 5 6 7 8
EventID (Time)

IEntries 8329 |

Hit mean column vs. mean row: Ladder 24 Sensor

(]
o

I

10

1

N

'I'
.iu

w

o — - ——__
5 __-_ - e, —
T =
1O i
=l — —

12

10
Mean Column

<rawhits>

IEntries 9495 I

Raw Hit column vs. row: Ladder 24 Sensor 2

60 —
— — 4 10
50 [E—— e —
I - ——
- — ] 1
30 - —_—
i
20— " —
- — | - 107!
10

2 4 6 8

Column

IEntries 1780 |

humber of raw hits vs. EventID: Ladder 24 Sensor 2I

4102
0 5 6 7 8 9 10

EventID (Time)

Page 112



<rawhits>

10§

IEntries 8698 |

Raw Hit column vs. row: Ladder 24 Sensor 3

=
o
[n'd
10 S
o}
=
I
—
I
[ — 1
T -—
— m— 1072

Column

IEntries 1780 |

humber of raw hits vs. EventID: Ladder 24 Sensor 3I

Row

4102
4 5 6 7 8 9 10

EventID (Time)

IEntries 7783 |

Hit mean column vs. mean row: Ladder 24 Sensor

10

-

107t

4 6 8 10 12
Mean Column

IEntries 10733 |

Raw Hit column vs. row: Ladder 24 Sensor 4

40

107

6 8 10 12
Column

Page 113



Mean Row

Row

IEntries 9550 | IEntries 1780 |
bumber of raw hits vs. EventID: Ladder 24 Sensor 4I

Hit mean column vs. mean row: Ladder 24 Sensor

<rawhits>

10§

'><1O3
0 1 2 3 4 5 6 7 8 9 10

Mean Column EventID (Time)

IEntries 9608 | IEntries 8420 |

Raw Hit column vs. row: Ladder 24 Sensor 5 Hit mean column vs. mean row: Ladder 24 Sensor

10

Mean Row

IIIIIIII

)
[ |
- 2 E

II IIII +

| illﬂ

107t

Column Mean Column
Page 114



Mean Row <rawhits>

IEntries 1780 I IEntries 7927 I
humber of raw hits vs. EventID: Ladder 24 Sensor 5I I Raw Hit column vs. row: Ladder 24 Sensor 6 I

Row

><1O3
6 7 8 9 10

EventID (Time) Column

IEntries 6860 | IEntries 1780 |
humber of raw hits vs. EventID: Ladder 24 Sensor GI

Hit mean column vs. mean row: Ladder 24 Sensor

. L N -
—_‘ * — g h
__ L —— - < i
— —_ __ % ]

- = —-=P v .

o=k

e [——— ]

_==__ ——

— — _* 1 =

— - — 3

ol —— 1
—— __ - Ix10°

8 10 12 0 5 6 7 8 9 10

Mean Column EventID (Time)

Page 115



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60
	Page 61
	Page 62
	Page 63
	Page 64
	Page 65
	Page 66
	Page 67
	Page 68
	Page 69
	Page 70
	Page 71
	Page 72
	Page 73
	Page 74
	Page 75
	Page 76
	Page 77
	Page 78
	Page 79
	Page 80
	Page 81
	Page 82
	Page 83
	Page 84
	Page 85
	Page 86
	Page 87
	Page 88
	Page 89
	Page 90
	Page 91
	Page 92
	Page 93
	Page 94
	Page 95
	Page 96
	Page 97
	Page 98
	Page 99
	Page 100
	Page 101
	Page 102
	Page 103
	Page 104
	Page 105
	Page 106
	Page 107
	Page 108
	Page 109
	Page 110
	Page 111
	Page 112
	Page 113
	Page 114
	Page 115


